RT0701C
8-13

.

V/i1:7,dbds



Model

A = Standard Equipment

RTO701C Parts List

O= Circuit Diagram

Item#

1
C10

oO~NOOThA WN

11

13

C10
14
15
16
17
18
19
20
21
22
23

D10
24
25
26
27
28
29
30
31
32
33
34
35
36
37
038-1
39
40
41
42
43
44
45
46
047-1
48
AO1

Part#

141052-3
893157-2
869668-9
620039-3
266326-2
687123-7
654542-2
664064-4
682569-2
643550-8
CB408

140736-0
643455-2
651527-9
633766-3
266340-8
259039-2
688174-3
253332-6
267756-0
210023-2
681668-7
515841-6

240125-0
961057-5
210301-0
253906-3
140735-2
266560-4
452468-0
233127-3
256437-1
763637-1
763615-1
265763-7
942151-2
941151-9
142403-3
941151-9
265792-0
227262-7
346392-6
163524-8
424396-9
941101-4
252103-8
454842-8
912112-6
122965-7

Description

TOP COVER COMPLETE
CAUTION LABEL
RTO700C NAME PLATE
CONTRLLER

TAPPING SCREW 4X18
STRAIN RELIEF
TERMINAL BLOCK 2P

POWER SUPPLY CORD 2X18X8

CORD GUARD 8-85
BRUSH HOLDER CAP 5-8

CARBON BRUSH CB-408 (195008-8)

BRACKET COMPLETE
BRUSH HOLDER 6X9
SWITCH

FIELD 115V

TAPPING SCREW 4X65
SELF LOCK 6

MAGNET SLEEVE

THIN WASHER 6

WAVE WASHER 6

BALL BEARING 627DDW
RESIN WASHER
ARMATURE ASS'Y 115V
INC. 17-22,24-26

FAN 55

RETAINING RING S-17
BALL BEARING 6003DDW
WAVE WASHER 26
OUTER HOUSING COMPLETE
TAPPING SCREW 4X40
PUSH BUTTON
COMPRESSION SPRING 7
PIN 4

COLLET CONE 1/4"
COLLET NUT

THUMB SCREW M6X25
SPRING WASHER 6

FLAT WASHER 6
TRIMMER BASE COMPLETE
FLAT WASHER 6

THUMB SCREW M5X35
SPUR GEAR 16

CAM PLATE

LOCK LEVER COMPLETE
RUBBER CAP

FLAT WASHER 5

HEX. LOCK NUT M5-8
BASE PROTECTOR

COUNTERSUNK HEAD SCREW M4X10

STRAIGHT GUIDE ASSEMBLY

Q'ty Unit

1 PC.
1 PC.
1 PC.
1 PC.
2 PC.
1 PC.
1 PC.
1 PC.
1 PC.
2 PC.
1 SET
1 PC.
2 PC.
1 PC.
1 PC.
2 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.

1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
4 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.
1 PC.

'—\
T
o

PR RRPRRRRRRERRR
WUV TUVTUVTUTUVTUT

T T
00 00000000



C10 252649-4 THUMB NUT M6 1 PC.

C20 266339-3 CAP SQUARE NECK BOLT M6X20 1 PC.
C30 346382-9 GUIDE PLATE 1 PC.
A05 781011-1 WRENCH 22 1 PC.
AO6 781039-9 WRENCH 13 1 PC.

Looking for dependable wood routers? Rely on Makita for quality and long-lasting products.



https://www.toolsid.com/routers.html
https://www.toolsid.com/makita/

